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Solve and write a statement to show your answer.

ADDITION WORD PROBLEMS

1)  Mark has 7 blue berries and 7 strawberries. How many fruits Mark is having?  

__ + __ = ___.
__ + 3 = ___.

___ + 4 = ___.

2)  Mummy made 9 big buns and 6 small buns. How many buns Mummy made in 

     all?

__ + __ = ___.
__ + 1 = ___.

___ + 5 = ___.

__ + __ = ___.
__ + 5 = ___.

___ + 3 = ___.

4)  Mark has 5 blue balloons and 7 purple balloons. How many balloons Mark is 

     having?  

__ + __ = ___.
__ + 5 = ___.

___ + 2 = ___.

3)  There are 5 girls and 8 boys playing in the garden. How many children are

     playing in the garden? 


